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Cluster: 0069 mpn; resid: 0.46; r/c: 14/117

x.range

upstream meme PSSM #1; e=2.4

1 3 5 7 9 111 3 5 7 91 3 5 7 9 111 3 5 7 91 3 5 7 9 111 3 5 7 91 3 5 7 9 111 3 5 7 91 3 5 7 9 111 3 5 7 91 3 5 7 9 111 3 5 7 91 3 5 7 9 111 3 5 7 91 3 5 7 9 111 3 5 7 91 3 5 7 9 111 3 5 7 91 3 5 7 9 111 3 5 7 91 3 5 7 9 111 3 5 7 9

x.range
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upstream meme PSSM #2; e=210

1 3 5 7 9 11 13 15 17 191 3 5 7 9 11 13 15 171 3 5 7 9 11 13 15 17 191 3 5 7 9 11 13 15 171 3 5 7 9 11 13 15 17 191 3 5 7 9 11 13 15 171 3 5 7 9 11 13 15 17 191 3 5 7 9 11 13 15 171 3 5 7 9 11 13 15 17 191 3 5 7 9 11 13 15 171 3 5 7 9 11 13 15 17 191 3 5 7 9 11 13 15 171 3 5 7 9 11 13 15 17 191 3 5 7 9 11 13 15 171 3 5 7 9 11 13 15 17 191 3 5 7 9 11 13 15 171 3 5 7 9 11 13 15 17 191 3 5 7 9 11 13 15 171 3 5 7 9 11 13 15 17 191 3 5 7 9 11 13 15 171 3 5 7 9 11 13 15 17 191 3 5 7 9 11 13 15 171 3 5 7 9 11 13 15 17 191 3 5 7 9 11 13 15 171 3 5 7 9 11 13 15 17 191 3 5 7 9 11 13 15 171 3 5 7 9 11 13 15 17 191 3 5 7 9 11 13 15 171 3 5 7 9 11 13 15 17 191 3 5 7 9 11 13 15 171 3 5 7 9 11 13 15 17 191 3 5 7 9 11 13 15 171 3 5 7 9 11 13 15 17 191 3 5 7 9 11 13 15 171 3 5 7 9 11 13 15 17 191 3 5 7 9 11 13 15 171 3 5 7 9 11 13 15 17 191 3 5 7 9 11 13 15 17
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hypothetical protein: MPN213−1.20

triosephosphate isomerase: MPN629−1.20

hypothetical protein: MPN284−1.47

hypothetical protein: MPN146−1.55

purine nucleoside phosphorylase: MPN062−1.65

deoxyribose−phosphate aldolase: MPN063−1.65

thymidine phosphorylase: MPN064−1.65

serine hydroxymethyltransferase: MPN576−1.90

hypothetical protein: MPN455−1.92

thymidylate synthase: MPN320−2.48

thymidine kinase: MPN044−8.32

elongation factor Tu: MPN665−9.71

hypothetical protein: MPN666−9.71

UDP−glucose pyrophosphorylase: MPN667−9.71

log10(P) upstream meme1 2 log10(P.clust)=−3.87; 14 seqs; 11 uniq
c(0.5, 2.5)
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